On dispose de 4 blocs dans un conteneur ! Dessiner le résultat.

.conteneur {
display: grid;
grid-template-columns: repeat(2, 1cm);
grid-auto-flow: column

.conteneur {

display: grid;

grid-template-columns: repeat(2, 1cm);

grid-template-rows: repeat(2, 1cm);

grid-auto-flow: column;
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On dispose de 4 blocs dans un conteneur ! Dessiner le résultat.

.conteneur {
display: grid;
grid-template-columns: [A] 1cm [B] 1cm [C];
grid-auto-flow: column;

}

#itl {
grid-column: B

}

#it2 {
grid-column: B

}

.conteneur {

display: grid;

grid-template-columns: [A] 1cm [B] 1cm [C];

grid-auto-flow: column;

#itl {

grid-row: 2




On dispose de 4 blocs dans un conteneur ! Dessiner le résultat.

.conteneur {
display: grid;
grid-template-columns: [A] 1cm [B] 1cm [C];
grid-auto-flow: row;

.conteneur {

display: grid;

grid-template-columns: [A] 1cm [B] 1cm [C];

grid-auto-flow: row;

¥
#it2 {

grid-row: 2;

grid-column: span 2;




